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[image: image2.png]1. Haiiaure 3HauYeHMe BBIPAKEHUS:

a) ¥216 — 32%‘%; 6) 2¥3 + ¥81 - «g/g.

2. YIIpOCTHUTE BRIpaXKeHUe:

a) Ya2(6%a - 12547);  ©) (¥a + 2)(¥a? - 2¥a + 4).
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[image: image3.png]1. HaiifinTe 3HaueHNe BHIPAKEHUA:
a) 3343 — 3_3%; 6) 332 + ¥16 - 13’2—27.
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2. YnpocTuTe BbIpaskKeHHUe:

a) Yx(¥8x® + 5YxD); 6) (¥x - 3)(¥x? + 3¥x + 9).
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a) ¥-512 + 13/4—;%; 6) 435 - ¥625 :\3/6_?4

2. YopocTuTe BHIpasKeHUE:
a) ¥2x(3108x8 - ¥62,52%);
6) (Ya + ¥26)(¥a? - ¥2ab + Y457).
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a) —&729 — 315%; 6) —5¥4 — ¥256 + 3%5.
2. YopocTure BhIpaskeHHUE:
a) ¥3a2 (\/3 72a1° + 13,21%a );

0) (3’/:; - 2{”/—1;)(3‘/3? + 23xy + 4{"/55)
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